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CHEMISTRY

Paper 1: Inorganic and Physical Chemistry

Friday 26 May 2017 Morning Time allowed: 1 hour 30 minutes
Materials RS :
For this paper you must have: . _For Examiner’s Use:

e the Periodic Table/Data Sheet, provided as an insert (enclosed) ‘ Question |° Mark

e a ruler with millimetre measurements | ]

e a calculator, which you are expected to use where appropriate.

Instructions

» Use black ink or black bal[r-point pen.

Fill in the boxes at the top of this page.

@
e Answer all guestions.
» You must answer the questions in the spaces provided. Do not write

~N|lola|sw|m

outside the box around each page or on blank pages.

All working must be shown. 8

s Do all rough work in this book. Cross through any, work you do not want

to be marked. Section B

Information
e The marks for questions are shown in brackets.
e The maximum mark for this paper is'80.

Advice _
s You are advised to spend about 65 minutes on Section A and 25 minutes on Section B.
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Section A

Answer all questions in this section.

(0 [1] _ This question is about atomic structure.

[2 marks]

. |_1—_| Write theff_gj_]jl;‘;electron configuration for each of the following species.

g &

|
LA~1 7 455 L 2 56
Cl 151 LP°ds dp i
e 2.t 26240 € ‘
Fe?" g% 25% 1p° 35" 5p° 3

: I_Zl Write an equation, including state symbols, to represent the process that occurs
when the third ionisation energy of manganese is measured.

. Forgt \ [1 mark]
¢ TR “77-'\?' '
24 ‘ f 3¢ - C 2% “l'.
Maghy, — Mooy + € $
(A) (9

- State which of the elements magnesium and aluminium has the lower

first ionisation energy. :

Explain your answer.

-

o

J\

A
i 2 5 - — A ST | (L3 e -
f/“,gmm T p‘m 3 (A h,:a,.a;u ;E’;f. AN ;@;'g'-w},\;’.«'ﬂw"»ﬁri €ncr9y Ul

| .

L
Ly, 2 bl };

{ Lﬁv Uue’u? ‘f{-@bv-‘“«" 1S n €ENg op of ﬁv“ru;‘ which i ¢
¢

»

L\\ ik s f,‘ 7 g y AR a - ) .} -
1 uw:-’fFjﬂ\Cf; T Che Nudeos VeENv§ (v | Gignesivn § u,»;;).u ch )
J
\

in the 75.

0 2 IB/M/Jun17/74041



Do not write

outside the
3 box
. A sample of nickel was analysed in a time of flight (TOF) mass specirometer.
The sample was ionised by electron impact ionisation. The spectrum produced
showed three peaks with abundances as set out in Table 1.
Table 1

m/z Abundance/%

58 61.0

60 29.1

61 89
Give the symbol, including mass number, of the 7i_cr>n"that would reach the
detector first in the sample. =
Célculate the relative atomic mass of the nickel in the sample.
Give your answer to one decimal place. ‘

[3 marks]
Symbol of ion IN LTS -
: N\ A X
S %\ [/ [ / b
(L g‘*)l;u ’\J“ ﬁ,,‘ “ G:'E)“o gbd'ﬁ)sgilﬁ‘ﬂ ’ (b\i}) ['k:* kg}
, e e ——— S J‘ u\')‘ ! ":';
\OG o
/
Relative atomic mass
I
03 IBAMAURA7/7404/1
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This question is about energetics.

Write an equation, including state symbols, for the reaction with an enthalpy
change equal to the enthalpy of formation for iron(lll) oxide.

2 1) AN

[ 4]

W % v;‘.l“ ..,[1 mal"k]

v iy

Br | (7 iy ]:— ™ al v oo Y e rsn -_“'
[fe, #iQs  — Fe,03m > ° 7 a s
Lo - Amiz
Table 2 contains some standard enthalpy of formatioh data.
Table 2
CO(g) Fe,05(s)
AH®I kI mol ' —111 —822
Fe,04(s) + 3CO(g) — 2Fe(s) + 3CO,(q) AH=-19 kJ mal™

Use these data and the equation for the reaction of iron(lll) oxide with carbon
monoxide to calculate a value for the standard enthalpy of formation for carbon

dioxide.

Show your working.

—— T [3 marks]

o —1
AH kJ mol
0 4 IBIMMUN17/7404/1
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[0]2]. Some enthalpy data are given in Table 3
Table 3
Process AH [ kJ mol™
5(9) + 3Ha(g) — 2NHa(g) e
No(g) — 2N(g) +944
Ho(g) — 2H(g) +436

3x 4-H

Use the data from Table 3 to calculate the bond enthalpy for N-H in ammonia
’ :_! :—:'f‘xﬁ y 6=':.—_ M=

[3 marks]
Ny + 3H; —s ZNH3 Qeachants - prodocts = OH
/ a ) f} s 120 ':\ - !ﬁ/ "‘fjj = ’gﬁz
,g,u’riéf,u. 3 uJ-r) £ . («g % 4 ,]:I qi‘;r & ¢ 15%‘“{&! © : il}
= 130% 2252 - |
f!,. 3 = P = f E :X‘ - “? ! ‘?::3_
2 f fjﬂ‘.‘“l ) 2 e . 4 ! = flﬁ:c"ic: O
L (6x?)= 13 222
> G i |
oV N | “,_._",‘ "‘g
+391 Epsl
////”/”,/;ﬂ
—
N—H bond enthalpy

kJ mol ™"

- - Give one reason Why the bond enthalpy that you calculated in Question 2. 3 is
different from the

1mean‘bond enthalpy quoted in a data book (388 kJ mol )
[1 mark]
7 gl ol e el F IR A
h WG w,, 1§ averagLn V& Many dirrerealc w.‘i'__::r'g\‘*'u-!ﬂ"ifirif‘éjj i
v/ [

TN .
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n A student planned and carried out an experiment to determine the enthalpy of
reaction when magnesium metal displaces zinc from aqueous zinc sulfate.

Mg(s) + Zn2+(aq) = Mg¥(ag) + Zn(s)
The student used this method:
e A measuring cylinder was used to transfer 50 cm® of a 1.00 mol dm >
aqueous solution of zinc sulfate into a glass beaker.
e A thermometer was placed in the beaker.

s 2.08g of magnesium metal powder were added to the beaker.
e The mixiure was stirred and the maximum temperature recorded.

The student recorded a starting temperature of 23.9 °C and a maximum
temperature of 61.2 °C.

(0] 3]. Show by calculation which reactant was in excess.

Use the data to calculate the experimental value for enthalpy of reaction in
kJ mol (Assume that the specific heat capacity of the solution is
4.18 J K 'g 'and the density of the solution is 1.00 g cm ).

Conc= moles .00 ‘,3}9 ‘) - 0-0Smales of In30¢. [6 marks]

{000/ | 61-27 -18-4 = 33-3°C

2 . J—

e

VAl e

A o

moles

Enthalpy of reaction =1 V0 ikJ'_;imoI—1

IB/MiJun17/7404{1

06



Do not write
outside the
T box

Another student used the same method and obtained a value for the
enthalpy of reaction of —142 kJ mol ™"

A data book value for the enthalpy of reaction is —310 kJ mol”’

Suggest the most likely reason for the large difference between the student’s
experimental value and the data book value.
: [1 mark]

L's sal Lo

A& 01 O%S I Onlae 28RS
1S | [ ‘J.}r‘_} 1 I & (Vi \:ﬂb"’#a"rblrf A ﬂ‘u‘.__‘ -
W]

Question 3 continues on the next page

1l

Turn over b
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. Suggest how the students’ method, and the analysis of the results, could be
improved in order to determine a more accurate value for the enthalpy of
reaction. ‘ _
Justify your suggestions.
Do not refer to the precision of the measuring equipment. Do not change the
amounts or the concentration of the chemicals.
[6 marks]
A Polystulens cop @l be used with a Vil radhesr
4 L] [V v ‘
Py TR fny . — T -
f’ !m, n Q h\?-‘cu L*«f:-. )h;x f u’;ﬁwtf»' L(r‘rﬁ.’; 5’ ]{;H 10 '; Iiaz
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n When substances P and Q react together to form substance R an equilibrium is
established according to the equation
P(g) + Q(g) = 2R(g)
The equilibrium constant expression is K, = ﬂi
[
PIla]
1.0 mol of P and 1.0 mol of @ were mixed in a container with volume 1.0 dm®
At equilibrium, x mol of P had reacted.
, The amount, in moles, of each of P and Q at equilibrium is (1— x).
‘Deduce in terms of x the amount, in moles, of R in the equilibrium mixture.
|I 2&] § [1 mark]
mol R = 2x - |
. EI At 298 K the value of the equilibrium constant K, = 3.6
Calculate a value for the equilibrium concentration, in mol dmﬂ, of R.
) [3 marks]
-~ 27
o . (I\?_ 7 'Y
f‘;.,i;l - &‘ ,} A6 = QZ(," 7 ‘)’J
; - ""_:r;ﬁ-g. P
~ 2\ AT (1_9¢)*
: AL (1-2¢)
L e /. 2c
: P j\i T_') : ‘E" - ':—_"iﬁ' i - £
| - Y
! / | -2 i
P ;_;5 - - 22 -,
=N 0°*'6 =
2.0 - = oc = :.;__ﬂ!‘ 36
== .3"=)‘_Lr",a’\, b e e
3-89
\7 i il
10° 3 -~ s L |
=049 .. K=09T
- —
Equilibrium concentration of R mol dm™>
4

LN |
09
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(05| This question is about intermolecular forces.
2 [I] Give the meaning of the term electronegativity.
[1 mark]
‘| -
/1 I o B0 ) 1 m I | 1 (P A ® o U
1 MRE‘, { ,’Q\Q‘L 14 Q!’ un Q7o 0 THEL Y G pall or
. J f
¢ Vel ‘:1’3.":1';;; , n g Cove t‘;,(’_, }If_)u";'\vf&d P
.| 2] Explain how permanent dipole-dipole forces arise between hydrogen chloride
molecules.
[2 marks]
I/f ;{‘k}’! ,‘/\@14,/’\\’ n,“ \EM ‘J.tj} ;_: 7N C ({Jj _.,4‘:% 2 ie&‘v’i;i—l"’d \"‘
: ¥ [V} Y
W . St l‘_,,_ o . J
‘lul“i = (d(g
) g fa I - 5 s F ) ) .u'u’ - ¥y i 1;‘ -!"’il. ,:_ =% i ,'
Wi ch qiveS [ise M Gn GURCNn beTwasn Tk g Ce
v
P PRSI [ ¢ A (L. LE+ e
10 Uil <'.v“»f:.;:=u‘ e qall _lw tl . oN \-g‘,r;\i:"xljg”"‘i;-f .
. Complete Table 4 by naming the shape of each molecule.
Place a tick (v) in the final column if the molecule has a permanent dipole.
' [4 marks]
Table 4
Tick (v') if molecule has.
Molecule Name of shape a permanent dipole
H _/"7 )'. ; .
SiHy J v et ,\"\
PHj I;?“v,jﬁi;‘«.mi oi’:;ftk'. q.;.,/ : ’
[V
oL i
BeC12 !.',,; Il4”y 7N ‘, f
CH,Cl refrahed a\ v’
: 7
‘ “[ ’|L 1B/ Juni7/7404/1
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Copper can be produced from rock that contains CuFeS,

. Balance the equations for the two stages in this process.

[2 marks]

{ "
P ==

L B Vd)|
i b d
1]

| g E'-
A CuFeS, + IR0, + 60 ~ . lCig8 ¥ B0 + 580, + . L FESID;

. Suggest two reasons why the sulfur dioxide by-product of this process is removed
from the exhaust gases.

[2 marks]

C5m " - « e
% - = 5 4 = s f Fa |
‘Reason 1 U2 gy A (Guie OF GtV fGgit.

Reason 2 gret

-Question'6 continues on the next page

] -
11 '
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. ‘ A passenger jet contains 4050 kg of copper wiring.

A rock sample contains 1.25% CuFeS, by mass.

Calculate the mass, in tonnes, of rock needed to produce enough copper wire for

a passenger jet. (1 tonne = 1000 kg)
[4 marks]

2
Td

4050kq = l000 = 4050x10°g.

4050 X107 _ (337953 males of Co winng
635 |

CufeSy = 1635 §3%14-53 %183-5 *3—.“:.‘@"35“:{%3_.‘7,%3
(ﬁlr
!H'}’Cib‘# A :i- - 130 domaes = [.2S Yo of
060000 fock
(000000 ,
o ”—-—L{} xlod =9 26.3 domes oFrock
25 neededd .

Mass of rock tonnes

A
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Copper can also be producéd by the reaction of carbon with copper(Il) oxide
according to the equation

2Cu0 + C— 2Cu + CO,

Calculate the percentage atom economy for the production of copper by this
process.

N ore v
e v &

Give your answer to the appropriate number ofgiénificant fi.gl.;lrg_s__.‘

B ~ [2 marks]

= et o

| |2
dai:.j’g‘i"%ii- H")‘-'

& Lo g o TR
%  arom Clonomy -

()

A |

L tal ¢ A
dotal (/e

Percentage atom economy

10

I
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. Iil Suggest the identity of the group 2 metal ion present in solution Y.

i Suggest the identity of the negative ion present in solution Y.

An aqueous solution Y is known to contain one type of group 2 metal ion and one
type of negative ion.

Aqueous solutions of sulfuric acid and magnesium nitrate are added to separate
samples of solution Y. The observations are shown in Table 5.

Table 5
Solution added Observation with solution Y
Sulfuric acid A white precipitate forms
Magnesium nitrate A white precipitate forms

Write an ionic equation, including state symbols, for the reaction that takes place

when sulfuric acid is added to solution Y.
[2 marks]

Group 2 metal ion ﬁ;%m

lonic equation DA~ 4

Write an ionic equation, including state symbols, for the reaction that takes place
when magnesium nitrate is added to solution Y.

[2 marks]
Negative ion OH
. ; ‘H“;“ Y 4 ,("(ﬁ Bheas = ‘;"u/"‘ﬁ‘,, ( ;*;P‘:‘]_‘ )
lonic equation '\ Cag) + UV Cag) —> ! j\ e )
W o \ *
4
1 4 IB/IMAun17/7404/1
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potassium iodide, iodine and nitrogen monoxide (NO) are formed.

When an acidified solution of sodium nitrite (NaNO,) is added to aqueous

. Give the oxidation state of nitrogen in the following species.

[2 marks]
Noz_ {" %
NO 42
. IZ] Write a half-equation for the conversion of NO, in an acidic solution
into NO ' Puge baleace wiTh S
T e A< 1 mark]
H 4 NO2” & e~ — NO # Ho 0O
: Write a half-equation for the conversion of I into I,
[1 mark]
fH o~ P
= = Lo+ £€

. Write an overall ionic equation for the reaction of NO, in an acidic solution

with I .
[1 mark]
4H* + INO;" ¢ 2T~ — 2NO + ZH20+ T,
5] statethe role of NO, in the reaction with |
[1 mark]

- e a5

y
LY i &

O« e&im 9 Qgentc
U U

Question 8 continues on the next page

I -
15
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In aqueous solution, nitrite ions react with acidified chlorate(V) ions according to
the equation

2Cl0, + 5NO, + 2H' = Cl, + 5NO;” + H,0
3 2 2 3

" —.\\‘- ':_ —
A 25.0 cm® sample of an aqueous solution of sodium nitrite required 27.40 cm®

of a 0.0200 mol dm ™ solution of‘pétassium chlorate(V) for complete reaction.

Calculate the concentration, in g dm of sodium nitrite in the sample.

e [4 marks]
el AN . is N = L& 1A -4 - sl ClfH™
wae = “f“E 2% %0 b . 007 = © v 5[0 " meley oF CLO 3
vol (000 /
S4%rt0™" g . |- ,ﬂu moles oF NO,
- - LAY S
a &~ &F W,!' ’.j
. O-05%b mealUm
N NG
@J .\}j:‘)‘a}-?ﬁj ¥ lr“\‘l L‘i{ ’(’)y, =
! "1 ]
U'i}"\{ b { g | ;\;‘ p ."
! ; oy -3
Concentration of sodium nitrite gdm
i
16 IBMAIUR1 7/7404/
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Section B

Answer all questions in this section.

@one answer per question is allowed.

For each answer completely fill in the circle alongside the appropriate answer.

CORRECT METHCD E | ® IF(D—“-% H @5 ‘

WRONG METHODS

shown. @

Do not use additional sheets for this working.

If you want to change your answer you must cross out your original answer as shown. JE

If you wish to return to an answer previously crossed out, ring the answer you now wish to select as

You may do your working in the blank space around each question but this will not be marked.

~

/

Which is the correct crystal structure for the substance named?

Substance Structure
A lodine Simple molecular
B | Diamond lonic R by

C | Sodium chloride Giant covalent

D Graphite Metallic % Covalat

aqueous solutions of silver nitrate and sodium chloride react?

A Refluxing -
B Evaporation Liv
C Filtration

D Distillation

Which is the best technigue to remove the silver chloride that forms when

[1 mark]

o) (o] 19] [e]

[1 mark]

N

Turn over »
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Which statement about astatine is correct?

A Astatine has a greater electronegativity than bromine « ™=

B Astatine is a beftef oxidising agent than bromine : <=

C Astatine has a greater boiling point than bromine

,,,,

Which statement about time of flight mass spectrometry is correct?

A The current in the detector is proportional to the ion
abundance -

B Sample particles gaiﬁ electrons to form positive ions «iese

C Particles are detected in the order of their kinetic energies i

D lons are accelerated by a magnétic field » =<7

Chlorine exists as two isotopes ¢l and ¥'Clin the ratio 3:1

Which statement about peaks in the mass spectrum of Cl, is correct?

A Peaks at m/z=70 and 74 in the ratio 3:1

B Peaks at m/z=70, 72 and 74 in the ratio 9:6:1

-+ C Peaksatm/z= 70, 72 ahd 74 in the ratio 9:3:1

D Peaksatm/z=70and 72 in the fafcio_S:f] ‘

9

o [0 o o

9] 9] [o] [9

9 o

[1 mark]

[1 mark]

[1 mark]

i |
« | |

IB/MAuN17/740411
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[1]4] A 4.85 g sample of anhydrous sodium sulfate is dissolved in water and the
solution made up to 250 cm® in a volumetric flask.

What is the concentration in mol dm > of sodium sulfate in the solution?

[1 mark]
A 0.0341
B 0.137

C 0.163

9 1] o] o

D 0273 e . 2 O

[1 mark]

A 127mgofiodine o (Ui2%g séonet®™/el 2155

B 1.54x 10 " kg of phosphorus " S4q ¥6-01 «i9*3)

C 81.0mg of carbon dioxide U7 (G .ouiq 5on

D 1.?0x10_4kg‘ofammonia

ﬂ 25.0 cm® samples of NaOH solution were taken by pipette from a beaker. These
were then titrated with an agueous solution of ethanoic acid. The concentration of
ethanoic acid calculated from the experimental results was found to be lower
than the actual value.

Which of these could explain the difference?
[1 mark]

o

« A Rinsing the plpette W|th dlstllled water before filling with
NaOH 5 wewl? give Nij

e

B Rinsing the burette with distilled water before filling with
ethanoic acid

C Rinsing the walls of the pomcal ﬂask Wlth distilled water
during the tltra’non poutdatk Ehinie diire

ol [

D Rinsing the beaker Wlth d|stll]ed Water before filling with
NaOH a_;":.; T8 :‘.v e \.‘_. L4 AT %

IB/MAJun17(7404/1
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11]7] A 20.0 cm® sample of a 0.400 mol dm ° aqueous solution of a
metal bromide (MBr,)) reacts exactly with 160 cm® of 0.100 mol dm ™
aqueous silver nitrate. '
. What is the formula of the metal bromide?
N ; _ [1 mark]
o Ve % '_' ,,;‘“}4: He | ) p
»
A MBr [©]
B MBr, : o/
C MBr, Ager [©]
D MBr, 6sld -9 =3
Which species has one or more bond angle(s) of 90°?
[1 mark]
A CHy (=]
Mevse B N =
" C clF, ¢
D Al =1
The forward reaction in this equilibrium is endothermic
COCl, (g) = CO(g) + Cly ()
Which statement is correct?
[1 mark]
) A Ifthe total pressure is increased at constant temperature, the [ |
o » proportion of COCL, in the equilibrium mixture will decrease
ruiny B Use of a catalyst will increase the proportion of COCL, in the (o]
Py P equilibrium mixture at constant temperature and pressure
C Reducing the equilibrium concentration of CO will increase [ |
the value of the equilibrium constant 3  waly 4vame chayey foc
D Raising the temperature from 373 K to 473 K will increase
the value of the equilibrium oonstan’[
‘ R ey lce
Ill”lzuluoll“ ‘Ill IBIMIUn17/7404/1
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Which of these is not a redox reaction?
[1 mark]

C SnCl, + HgCl, — Hg + SnCl,

[S]
B MgO + 2HCL—» MgCl, + H,0
[©]
(=]

D MnO, + 4HCl — MnCL, + 2H,0 + Cl,

Which of these has the highest first ionisation energy?

[1 mark]
c s [©]
p c V

What is the empirical formula of an oxide of nitrogen that contains 26% nitrogen
by mass?

- [1 mark]
A NO, - L -
B N,O, ;L:u s, .
C N,O I |56
D N,Os ‘ —

Which species is not produced by a redox reaction between solid sodium iodide
and concentrated sulfuric acid?

MoT 5 il O o NaHite s HE H marid
A Na,S0, " v N i“’ He0
c s : g 't =]
D SO, Lk j ] =

L

Turn over b
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There are no guestions printed on this page

DO NOTWRITE/ON THIS PAGE
ANSWER IN THE/SPACES PROVIDED
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